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B —et [KEMER] . — - — . - - - (HAE < F)
[N i ; B B m
L SOTHE | METRE | AWEER | ROWH # — 5T s & RUFR | | TR LI
1? 1I 1 B ERRR 15 THHAR 1,000 0 1,000
2 B¥AmRAEERE 4,000 4,000 0 4,000
7 ®& 1,000 0 1,000
11 AR 1,000 0 1,000
14 ERAMEUR 1,000 0 1,000
&

15 THHAR 1,000 0 1,000
3 MEXREFEIRR 5,000 7,174,000 7,179,000 7,170,000 9,000
7 €& 1,000 0 1,000

1 HA%R 139,000 A 1'35—.0001 4,000 {HFESE 106, 481

RELR 12,313

EIR A 32 16, 206
13 F&iest N 1,000 0 1,000
14 ERBRUHE 1,000 0 1,000

féast
15 THHAR 7,037,000 7,035,000 2,000 4kl K HFH B TIFHAR

7, 035, 000
2 AT AREEIRR 8,000 8,000 0 8,000
1 AFHARERREFHEIRE 5,000 5,000 0 5,000
7T €& 1,000 0 1,000
H wmRR 2,000 0 2,000
15 T AR 1,000 0 1,000
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Ry | TEREA] S ]
%R A SOTRE | WETHE | AETRR | RN at 5 T 5 m AL W L W%
11| 2| 1 Je AR K EEHB 19 AE&HER 1,000 0 1,000
2 U2E &
2 NEEEXEHRE 3,000 3,000 o 0 3,000
7 ®&& 1,000 0 1,000
11 WAR N 1.@ o 0 1,000
15 TH AR 1,000 B 0 1,000
12 AR 638,162,000  A1,359,000 636,803,000 636,300,602 502,398
1 DMER 638,162,000  A1,359,000 636,803,000 636,300,602 502,398
1 Tl 529,757,000 529,757,000 529,756,412 588
23 HREeFFR 529,757,000, 529,756,412 588 | WBIE BT 522,636, 412
UHEIR ; fEfemeos - HPS 2 B B & 5%
| ‘ | TEREERTE 7,120,000
2 W 108405000 21,95900 I R T
23 ELFFR) 107,046,000 106,544,190] 5 501,810 &iHHEHF 105,983, 798
UEI5E (ERBFELHMERERE SR
P i e 560, 392
13 BXiHe 1,000 7,994,000 7,995,000 7,889,077 105,923
1 BB 1,000 7,994,000 7,995,000 7,889,077 105,923
1 ERIZHERMAE 1,000 7,994,000 7,995,000 7,889,077 105,923
23 REAITFR 7,995,000 _ 7.889.677 105,923 iR & 3, 028, 561
(& ETE R eRATERRS e
EE 4,342,516
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B —Aent [EXMe] [Tl , (B : F)
i ¥ i T H QW?#_&
HRRREV | THRXH e . % @
® A A WHTRE | WETFHE | SRTER | RUWA # X HHB TR fi %
, W m " X 4% & REBIIFR
[l
131 1 EREHEEME FH TSRS E L M B
& 518, 000,
14 FHE 28,000,000 117,446,000 145,446,000 0 145,446,000
1 Tl 28,000,000 117,446,000 145,446,000 0 145,446,000
1 F%R 28,000,000 117,446,000 145,446,000 0 | 145,446,000
{ 29 Ttk 145,446,000 0! . 145,446,000
|
i |
J
)
|
=4 tH & H 6,517,000,000 887,189,000/ 495,719,836 7,899,908,836i 7,434,895,353| 145,875,500! 319,137,983




